
Wall-Mount Bracket Assembly Instructions



Amphion adaptor

3rd-Party ceiling/wall mount

IMPORTANT NOTES:

Please first refer to the Ceiling/Wall-Mount Product Sheet for your monitor or speaker model here:

Pro-Audio "Create" Line     https://amphion.fi/create/support-pro-audio/product-information/ 

Home Audio "Enjoy" Line   https://amphion.fi/enjoy/support-home-audio/product-information/  

See your local Distributor or Dealer for specific information on Price | Parts | Installation 

This mount-system is a combination of an Amphion adaptor and a 3rd-Party ceiling/wall mount

Amphion recommends that a professional installer or qualified tradesperson install this system

This booklet is a general guide only. A technical sheet is available to Dealers/Distributors/Installers

!

!

!

!

!



1x1x

1
2

7
0
 -

 7
6
 m

m

1
4
0
 m

m

1
6
0
 m

m

6.2 mm

28.5 mm

104 mm

90 mm
70 mm

7.0

4x2x 2x2x

1

2

3

3

4 5

4

6

5

6

7

Amphion Bracket Adapter

K&M Bracket 24471-000-55

M6 Lock Nut

M6 Bolt

M6 Washer

M4 Bolt

3 mm Hex Key

5 mm Hex Key

Wrench/Spanner 10mm/13mm

1x 1x 1x

7 8

9

8

9

1
0
3
 m

m

80 m
m

123 mm

7
0
 m

m

6.0

8.0

Components & Fasteners

Amphion Adaptor & K&M Mount Dimensions (mm)



1

2

Remove connection-post screws (4 screws)

 Position adaptor bracket and affix (4 screws)



3

4

5

Affix wall-mount plate to wall using 4 x mounting bolts

Remove adjustable U-bracket from wall-mount ie. bolts (2), washers (2), locknuts (2), and locknut cap (2)

 Attach adjustable U-bracket to speaker adaptor-bracket using bolts (2), washers (2), and locknuts (2)



6

7

Slide speaker with mounting-assembly into place over wall-mount

Insert bolts (2), washers (2), locknuts (2), and locknut caps (2) to fasten adjustable U-bracket to wall-mount



8

9

Set desired monitor tilt-angle (eg. 30 degrees pictured) and tighten adjustable hinge bolts

Adjust lateral monitor toe-in angle accordingly

30°



Amphion Loudspeakers Ltd.

Factory & Headquarters

Kiveläntie 4
70460 Kuopio

Finland

Tel. +358 17 2882 100

info@amphion.fi

amphion.fi

Assembly Instruction
Version: 1.1 / 01.12.2021


